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assume constant

To has 16 =0 & fr = fp = 0,5
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Constant heat capacity model

dF = [pdT /d = od

F =F+ [p(T -Tref)N s

Flo = Flp8 + [p(T- Trf)

↓T = ATtrez + 1Tp (T-Tref)
could take ref state as Tm

-5 = 15mf +XTpIn(T/Tref)
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Kinetics/Kinetic Theory of gasses
----

molecular picture - molecules

should follow Newtonian Mechanics

Problem : Calt solve F=Ma for

more than & particle analytically
for most potentials

What are the gas molecules doing
on average?
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One Molecule in one dimension

KE = mv
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p = MV

Boltzmann equation says : P(E) aest



One particle in one dimension :
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What about pressure

speed Ux#It
same
,IVx) stays turns around

at the wall

change in momention is

MUx -( -Mux) = Zmuk

F= H+= [F=
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